[image: image1.png]3) Using the information in the following table, answer the following questions:

Number of people

Component (millions)
[Total population 246
Working-age population 207
Labor force. 159
Employed 33
Uncmnployed O

- What i the unemployment rate?

4) Consider the following graph. and determine the

penaiures

ilibrium level of income algebraically

Real

(AE = Total Spending, AP = Total Production or Total Output)

(Hint: The equilibrium level exists where AE
point of intersection between the AF and AP curvs. In this problem, consumption
spending i the only component of AE. Therefore, equilibrium exists where the
‘expenditures function intersects the AP curve (the 45 degree line).

P. Graphically, this is expressed at the





